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Instructions for the Candidates

1. Write your Roll Number in the space provided on the top of this page.

2. This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.

3. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested to open the
booklet and compulsorily examine it as below : E

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page. Faulty booklets
due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the period of 5 minutes. Afterwards, neither the Question Booklet will be replaced
nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C) and (D). You have to darken the oval as indicated below on the correct
response against each item.
Example : CA> @ (© (D> where (B) is the correct response.

5. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — Il only. If you mark your response at any

place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

6. Rough Work is to be done in the end of this booklet.

7. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except for the space
allotted for the relevant entries, which may disclose your identity, or use abusive Ianguag_e or employ any other unfair means, such as

change of response by scratching or using white fluid, you will render yourself liable to disqualification.

8. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and must not carry it
with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicate copy of OMR Answer
Sheet on conclusion of examination. }

9. Use only Blue/Black Ball point pen.

10. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.

12. In case of any discrepancy in the English and Guijarati versions of questions, English version will be taken as final.
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SOCIOLOGY

Paper - li

. Who claimed modernity as an ‘unfinished
project’ ?

(A) Jurgen Habermas
(B) Jeffery Alexander
(C) James Coleman
(D) Pierre Bourdieu

. Find out which match is correct one.

(A) Robert Merton - Modern Social
Theory

The Division

of Labour in
Society
EssaysinTheory
of Society

(D) C.H.Cooley - Power and
Progress

(B) Talcott Parson

(C) R. Dahrendrof

. Name the sociologist whose study is
related to joking relationships.

(A) Radcliffe-Brown
(B) Lewis Coser
(C) Raymond Aron
(D) Levis-Strauss

. As per census 2011, is the
all India Sex Ratio.

(A) 940
(B) 927
(C) 933
(D) 948

1. AQ 54 3, wUyRacll At uYR

e B
(A) %¥olot doiM

(B) B AAsMeSR
(C) B SleARel
(D) R ARy

. WY AsH 5y B A Wkl

- et A{luct
dudl

(B) aletdlz WMt — tll Belloset ulg
Az 8ol Rl

- WA tet Ylud)
Ag Auadl

— W WAes YA

(A) Auld Heal

(C) R3S

(D) ¥l Ay gell

. 68l Hesdloll ol WeANU §R0UtR

Artorellof ottm L.
(A) ¥ssclls wlGet
(B) Aldy sl

(C) s At
(D) aldu

. 2001 ofl crell 2Rt ?l yorod euzeil Ao

YHIQL (ratio) 8.
(A) €¥0
(B) €29
(C) e33
(D) e¥c¢




5. What is the name of the report submitted
by the committee on status of women in
the seventies ?

(A) Towards Equality
(B) Towards Reservation
(C) Justice Verma Report
(D) Status of Women

6. Which of the following are applicable to
a sample ?
1. A sample should be representative.
2. A sample should be random.

3. The bigger the sample size, the
better.
(A) 1 and 2 are correct but 3 is
incorrect
(B) 1 is correct but 2 and 3 are
incorrect

(C) 2 and 3 are correct, but 1 is
incorrect

(D) 1 and 2 are incorrect but 3 is
correct

7. When was the first Anti-reservation
Movement in Gujarat started ?

(A) 1981
(B) 1971
(C) 1991
(D) 1987

8. Whose name is associated with the
concept “Tragedy of the Commons” ?

(A) Ulrich Beck
(B) Garrett Hardin
(C) Danel Bell

(D) Elinor Ostrom

5. el eustl HBCUeA 90 A
dgal sMEA WA Udcllce] il g B ?

(A) 2a$x sscu@dl
(B) ga§a Rclatet

(C) wxdlu aul AW
(D) =y g gHet

6. ol Usl s Quuall Reel A oy
ud g ?
1. Red uQRR« cug 8\lg ASR

2. [ledl aew &g AN
3. [esl o 5€ Ve ay deg A
U3 sdaAA

(A) 1ulal R AL URL 3 W
(B) 1Y Ul R VAl 3 Wal B
(C) utal 3 WA U 1 WE B
(D) 1ual R w2l Ul 3 Wy

7. Bollidct QAL YoM v{Elctot oAt M
SR U ?
(A) 1ecr
(B) 1¢91
(C) 1¢eer
(D) 1ecy

8. 23l Allg tl Sl vl WA Bl
ol ASIAG B ?

(A) Y3 As

(B) e &8l
(C) 3Rac Act

(D) dellall WU
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9.

10.

1.

Who pioneered to introduce Sociology at
Bombay University in 1919 ?

(A) G.S. Ghurye
(B) M. N. Srinivas
(C) Patrik Geddes
(D) R. K. Mukherjee

Match the following :

a. Westernization i. McKim
and Sanskritization Marriott
b. Universalization ii. R. K. Merton
and Parochialization
c. Great Tradition iii. Talcott
and Little Tradition Parsons
d. Universalism iv. M. N.
and Particularism Srinivas
v. Robert
Redfield
Codes :
a b ¢ d
(A) i ii i
(B) iv i v i
C) v i v il
(D) i iv i v

Who wrote the book “The Religion
of India : Sociology of Hinduism and
Buddhism” ?

(A) G. S. Ghurye
(B) Max Weber

(C) Emile Durkheim
(D) Louis Dumont

9.

10.

11.

1ete H o Yolla(lElui wmizaust
ol 93cltct Sla 83 ?

(A) ®. A Yy

(B) Au, Adt. slllAcunt
(C) URs ollsu

(D) 2. . yuodl

ogls 5L S

a. u@ls:el wa i Dsfla e
drgldsQ

b. uc>(s0l WA i, BUR. . Heéel
wlells0L

C. OJSE WRWRL WA ii. 2lehle Wiled
Ay YUzl

d. wd>{s20 wal  iv. VN, Aet.
QellR 51 sfilteut

v. Aud wlies
YelAl (8lS) :

a b ¢ d
(A) i i i
By v i v i
(C v i v i
(D) iivo il v

“ofl flcllopnet A5 Rl : ANAAY
By Rog M Aos olltellopn” A Yetsell
Auls 5L B ?

(A) ®. Ay

(B) Asu AolR

(C) A gullen

(D) gsu gl



12.

13.

14.

Which of the following energy sources
used in houses are environment
friendly ?

(A) Solar
(B) Coal
(C) Petrol driven vehicle

(D) Gas

Louis Dumont contributed in which of the
following ?

(A) Marriage Institution
(B) Family Institution
(C) Indology

(D) Kinship types

An amendment to the Hindu Succession
Act, 1956 was made in 2005. As per this
amendment, a married Hindu Woman
has now right to inherit

(A) Property of her father like her
brother

(B) Only to the self acquired property
of her father and not ancestral
property

(C) A lower share than her brothers in
the property of her father

(D) A proportion of the moveable property
of her father

12

13.

ol Qotl Hlell sl UGEAAL VA ¥ UHL
U B ual ualawl ot Aol fu B 2

(A) yluba
(B) Al
(C) QAcell wetdl gl

(D) Au

(1 Qotl Hlell sl vtoAUHL YELA M2
qoy gl ?

(A) oot el

- (B) §ou

14.

(C) SeA\A®

(D) HOURL YSIR

1eus ot @ usAUet sL2AELHi 200U
Hi YU Yl el vl YR Yool s

QauRd Bg ¥l ctrolcdcll oAl 62 R &5
HA B A

- (A) Qell ot ol B AR UL Acttell Retsel

oll &5

(B) A Qell QA s1Ac Retsc Hi 68
U ydoal ol Retsd ui =@

(C) e scll Aell Rl ol Aetscmi AL
eual Hodl

(D) Qett Rt oll 2ecz Aetsd «0l As ewot




15.

16.

17.

18.

19.

Assertion (A) : According to Durkheim,
egoistic suicides are more common in
modern society.

Reason (R) : This is because of excess of
normative regulation in modern society.

Codes :

(A) (A) and (R) are correct

(B) (A) is correct, but (R) is incorrect
(C) Both (A) and (R) are incorrect

(D) (A) is incorrect, but (R) is correct

Which commodity represents the white
revolution in India ?

(A) Wheat
(C) Cotton

(B) Rice
(D) Milk

Who coined the concept of “Culture of
Poverty” ?

(A) Oscar Lewis

(B) Max Weber

(C) M. N. Srinivas

(D) K. C. Panchanadikar

Who coined the term ‘Social Exclusion’ ?
(A) Amartya Sen
(C) John Hills

(B) Rene Lenoir

(D) Oscar Lewis

“Untouchability in Rural Gujarat” is
written by

(A) A. M. Shah
(C) K. M. Kapadia

(B) I. P. Desai
(D) G. S. Ghurye

15.

16.

17.

18.

19.

RAget (A): EWEH ol Ml Yosol wlateitll
Ulasl wWYRAS WHRAHL ay AdAHA
au B

otb (R): vllej 51201 vtyells uxA Wi

dy UScll QRWUMS RUASIR o

YA B

vl (81s) :

(A) (A)ua (R) w8

(B) (M) B uq (R) Wig B
(C) (A)ua (R) e wlal 8
(D) (A)Vg B Ud (R) Wy B

Ad 5(QA WA 58 cir ASAA B ?
(A) ug (B) siawR
(C) swd (D) g

‘aflollel s’ ol Reuctett A wdl ?
(A) 2812 Al

(B) Asyd AuR

(C) AH. Not. sllRcun

(D) .l dusels

AR5 R WReurt ad wdl ?
(A) wHR] Aet (B) AR el
(C) A&et Beu (D) sl AdlM

Il OJsRAAML BRYRUcAl” Yeis HQ
cuyj ?

(A) . AN, we

(C) ¥.au. stuslan

(B) e, |l. 2w
(D) ®. A YA




20.

21.

22,

Match the movement List-l with leader
in List-1l and choose the correct answer
from the given code.

List-l List-ll
a. Chipko 1. Charu
Movement Mazumdar
b. Naxalbari 2. Medha
Movement Patkar
c. Narmada 3. Sundarlal
Bachao Andolan Bahuguna
d. Ganga Bachao 4. G. D. Aggrawal
Andolan
Codes :

a b ¢ d
A) 1 2 3 4
B 3 1 2 4
(C) 1 3 2 4
o)y 4 2 1 3

Swasth Vayu, a non-invasive ventilator,
which was seen in the news recently, was
developed by which organisation ?

(A) DRDO
(B) CSIR
(C) ISRO
(D) BARC

T. K. Oommen’s analysis of “Bhoodan”
movement can be associated with which
perspective ?

(B) Weberian

(D) Parsonian

(A) Functional
(C) Marxian

20.

21,

22,

AL -1 {2l undn A él-R ui
VUA Acllell ollH WA A2 A ue 53
AUAAA Sls(yeuait) Hiell A G v,

alél-4 Alél-2

a. Qual widlaet 1. W3

HHEIR

b. etse ot 2. Rl uls?
WiEleat

c. eUlEl ol 3. yerelled
BUElAot “§IIRU

d. olou slaa 4. %. S vl
iElCtel

YAl (81S) ¢

' a b ¢ d

A 1 -2 3 4

B 3 1 2 4

c 1 3 2 4

)y 4 2 1 3

celilotdl AMRUARML Al HAcl
YUY, U ollol BoA A AsdlARR’ 5¢
deuA Qsae 8.

(A) 4l 2u2. 4l AL
(B) Al Ax. wd. W
(C) W, AU, VR, . (BuA)

(D) ofl. A, auz. .

Yelel unan of adls2g &3

WMol Gl §2AY B Aol sall WAAN WA
Al asia ?

(A) sticHs
(C) wusleuél

(B) Aollflauat
(D) walencue
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23.

24,

25.

26.

‘“The Social Body’ (2001) is a famous
work done by

(A) H. Becker
(C) A. Giddens

(B) P. Bourdieu
(D) N. Crossley

Ramchandra Guha had studied which
Movement ?

(A) Environmental
(B) Dalit

(C) Feminist

(D) Racial

Based on the following statements | and I,
which of the options is correct ?

|. Pareto termed logical explanations of
non-logical actions as derivatives.

ll. Pareto stated that history is the
graveyard of Aristocracies.

(A) lis true but Il is false
(B) lis false but li is true
(C) Both | and Il are true
(D) Both | and li are false

Computer programme that allows
quantitative data to be analyzed is
called as ‘

(A) CPR
(B) SPRA
(C) SPSS
(D) DAR

23.

24,

25.

26.

20013 - l At A * R YR
1M Sloll gl saMl vy ?

(A) R, AsR B) . Al
(C) A. alsen (D) Ret. HRAA

AM A% JYBLA gl UiElctet oll WeAN
s B ?

(A) wala@l
(B) el
(C) o€l
(D) dsllat

yaun wa ofln Quitet GUR R
(Aot A 52l Qs WwW & ?

I. ARAN AcZs Baua ot clds
el 30Qdlay dils uReuld
sal B

Il VAR sa3 Qe A GHRAAALEL
clczaluliall seR 8.
(A) 1 Y B 11V B
(B) 1WQg B WY B
(C) 1A 1l ol A B
(D) 1ua Il oiat V02t B

9aues Bl of QeAual sz Hi
5AA B d ddly vlowud 8.

(A) L.
(B) Ax.l.u.A

(C) A Ul A ™.
(D) Sl A, AR,




27.

28.

29.

30.

The assumption that two variables are
not related, may be termed as

(A) Null hypothesis
(B) Invalid phenomena
(C) Fruitful hypothesis

(D) Universal statement

Grounded theory was developed by
(A) Johoda and Cook

(B) Glaser and Strauss

(C) Maclver and Strong

(D) Earl Barbie

“Social Capillarity” theory of population
growth was given by which scholar ?

(A) A. Dumont
(B) H. S. Becker
(C) A. Ginni

(D) V. Pareto

H. S. Becker was associated with which
theory ?

(A) Labelling
(B) Differential

(C) Systematic
(D) Equilibrium

27. Acfl wet B 3 A uRael As ol
A Yol o2l Aa Vo et Hi
Ul B

(A) ot AR5 BUsEUaLL
(B) Mo Hesll

(C) GuA( Guseuetl

(D) wdBs suet

28. UG3s fladl 8 @sacl
(A) °s8lsL VoS §5
(B) 2QAUR Wos WU
(C) RsweaR Aos 3oL
(D) A ool

29, il gfdell “Aeacd I YlcuAdl A
Reid sl QuA w2l ?

(A) A, eyl
(B) A, Ay, A5
(C) A ol
(D) . WRa

30. s Reld WA A, AY, A5 ASAc
87

(A) Quldat

(B) @QAEls:w

(C) uslduR

(D) Bsaucllollflain (UHiet ds)




31.

32.

33.

34.

Who among the following have focussed
on agrarian class structure 7

1. Andre Betellle
2, A K. Saran
8. A.R. Desal
4. M. N. Srinivas
5. Ramakrishna Mukherjee
(A) 1,2, 4and 5
(B) 2,3and 4
(C) 1,3and5
(D) 2,3,4and 5

The method of ‘Sociometry’ was first
used by which scholar ?

(A) M. Weber (B) Lipset
(C) R. Bendix (D) G. Moreno

Name the following concept of Mead
which refers to the ability of the individual
to take the attitude of the group to which
he belongs.

(A) Generalized other
(B) Game stage

(C) Act

(D) Play stage

Choose the correct option for digital
economy.

(A) Sending money by post
(B) Payment by cheques
(C) Internet banking

(D) Paying by cash for internet usage

31, ol Acituilell AQ grsadl all MWl
Gu? sl usdl B

1. W@ Aee
2. W, B e

3. A, UR, U
4. QAx, Aet, sEcun
5. AHFW 48P

(A) 1,2,4ud 5

(B) 2,3 ua 4

(C) 1,3ua 5

(D) 2,3,4ua 5

gl Ralet g2l ARG ualdall
yaH culd GuloL sRAA ?

(A) A, AuUR (B) cl\de2
(C) R, A5t (D) V. ARell

32.

cFRell HHgoll HeA Adldoll AR
el scuell Aol ealadl s iRl
AUUWAA vauet eadladl

(A) ¥oRACUBNS UUR
(B) W ¥

(C) Wse

(D) \@& 8

33.

Rapect R 12 W [Aseu

gl

(A) 2ulet HiRgd augl Mscal

(B) A5 s yYsagl

(C) Be2re ALHI

(D) S22 it Guallol 2 Asdell
ysagll

34.

o



35. Non-probability sampling is generally
useful in which type of research ?

(A) Census of India
(B) N.S.S.D. Studies
(C) Qualitative Research

(D) None of the above

36. “Ghotul” is a tribal youth dormitory found
among which of the following ?

1. Jarva

2. Muria

3. Munda

4. Gond

5. Naga

(A) 1,2and 4
(B) 2and 3

(C) 2,3and 4
(D) 2,3,4and 5

37. Which of the following tribe is classified
as a primitive tribe in Gujarat ?

(A) Dublas (B) Kathodi

(C) Chaudhari (D) Gamit

38. Who is the author of the book “State and
Minorities” ?

(A) Sardar Vallabhbhai Patel
(B) Jawaharlal Nehru

(C) Dr. B. R. Ambedkar

(D) L. K. Advani

35. [Qet AroUcteltats Redet wnoxn A
sl Ysloell {elotHi GuAloll ol B ?

(A) ek ol axdl o1l

- (B) AdAuAx. wed
(C) dJRUeHs et

(D) Guruidl A1

36. “olget” Rl Yooy, s¢ otm@ni
AUMA B ?
1. wRal

2. yia

3. yst
. 4. s

5. ellou
(A) 1,2ua 4
(B) 2uAa 3
(C) 2,3ua 4
(D) 2,3, 43 5

37. llAouniell 58 @A A Iyrcin

st[’éu el AAM cdllsct sReumi vucl
?
(A) guou

(C) Aud

(B) stasl
(D) suld

38. <®2 Wo§ HISAIN" Yacis ot Aus
a8 9?

(A) URELR ccelotelss udel
" (B) walgraud o133

(C) s oll. w2, uidss2
(D) Ac. 3. usarl




39. Eunuchs are part of which social | 39. ciailell «llAell fll AUERSs UM

group ? MY Wy B ?
(A) Lesbian (A) ARAUsL
(B) Gay (B) A

(C) Bi-sexual (C) clAASYAA
(D) Transgender (D) 2lo¥ %oSR

40. Who wrote the book “Women in Modern | 40. “giet 8ot et 832" Yicts A

India” ? Qv B ?

(A) Neera Desai (B) Tara Patel (A) ol g (B) =t uze

(C) Tulsi Patel (D) Vibhuti Patel (C) dadll wee (D) Qgld Wt
41. Which of the following are associated | 41. «{lQetmiell 53 @Qscu EXNEloll YElat \

with Derrida’s contribution ? AA AsAG B ? \\

1. Cultural Capital 1. dizsRs 3l (seuRe Bullect)

2. Logocentrism 2. ALIRAFBH

3. Modernism 3. wy@scll

4. Deconstruction 4, [3scgseet

5. Difference 5. dslde (S1§0d )

(A) 1,2and 4 (A) 1,2 %4 4

(B) 2,3,4and5 (B) 2,3,4 %5

(C) 1,2,4and 5 (C) 1,2,4u4 5

(D) 2,4and 5 (D) 2,4u4 b

42. Whois the author of the book ‘Caste and | 42. “sixe Wos BRAMS $odlAR" Yrcis el

Economic Frontier ? QAuis SaL Y ?
(A) Oscar Lewis (A) st Acl
(B) Gail Omvedt (B) Aa wWde
(C) F. G. Bailey (C) As. ». ascll

(D) M. N. Srinivas (D) WA, R

A A



43.

44|

45.

Which ofthe following are the determinants
of population change ?

(A) Birth and death, ruralization
(B) Death and migration
(C) Birth, death, migration

(D) Birth, death, migration and
acculturation

Mention the name of the Sociologist
quoting - ‘Caste system has disappeared
but caste continues in modern India’.

"(A) S. C. Dube

(B) G. S. Ghurye
(C) Yogendra Singh
(D) R. K. Mukheriji

Max Weber defines class in terms of
which of the following ?

1. Forces of production
2. Life chances
3. Relations of production
4. Market situation

(A) 1,2and 4

(B) 2,3and 4

(C) 1,2and 3

(D) 2 and 4

43. (st Ulef 89 claell WRaclot 12
Aelas fla ud 7

(A) WoH uel He , Qs
(B) Hej Ul 2&lci?
(C) Wi, 4y, wA WUAIAR

(D) weH, 4y, Rl W
weleglAsreL

44. olRcHl sulAyen 28 «tell uiq R

2l 8 B Ag sdeltz wrwausll of oin
W,

(A) Al g
(B) ®. Ax. yI
(C) AdealdoL

(D) wiR, b, ywofd

45. A A ol Qe el 568 WRouNL
o3 cold gadedl B ?

1. Gedled ol UE
2. veadiell ddl (g o dil )
3. Gaulee ol Hoiy

4. o ol WRER
(A) 1,2 ua 4
(B) 2,3 ua 4
(C) 1,2ua 3
(D) 2 w4 4

R —
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46.

47.

48.

49.

Which of the following refers to a digital
economy ?

(A) Payment by cheques
(B) Paying by cash for internet usage
(C) Sending money by courier

(D) Internet banking

Which of the following Acts gives Rights to
the local community for minor produce ?

(A) Indian Forest Act, 1927

(B) Wildlife Protection Act, 1973
(C) Forest Conservation Act, 1980
(D) Forest Rights Act, 2006

According to Durkheim, mechanical
solidarity is associated which law ?

(A) Repressive
(B) Restitutive
(C) Compensatory
(D) Detrimental

Based on the following two statements
X and Y, which of the options is correct ?

X : The Frankfurt School of Sociology
was popular for its critical theory.

Y : It was critical of both capitalism and
communism.

(A) Xis true, but Y is false

(B) Xis false, but Y is true
(C) Both X and Y are true
(D) Both X and Y are false

46. gm A4 52 “Slwed ga gald
?
(A) A5 wRgA Ysagll

(B) o2ra2 oit GUALL U2 ASS
W ysall

(C) sRUR MREA ARl Wscal
(D) o2z Al

47. ol Aetal ol UERA &5 U
SIAEL 50 B ? :

(A) sBad R s, 1€V
(B) ages cues Uldsalet Ase , 1693

(C) 8% sooddalet Us2, 1¢¢0
(D) 8k ALe WAse, 005

48. UBs Ascll gsulefuall Hel Yol sl
stael (Ran ) WA wol@d 8 ?

(A) Ala

(B) Wwéleydld
(C) s A2l
(D) el

49. Aol A Quiall GuR R sl
@sel WA 8

X amtosautell 30558 avll Astt Slélsct

Reic 12 YyR& &l .

Y: A ydlae v aaAde ol e
Rstems &l

(A) X WY DUty W d
(B) X vl d ualy 3y 8
(C) X BalY ol WA B

(D) XY oiad viat B

\

N\



50.

51.

52.

(A) I. P. Desai

Which of the following are associated |

with the work of Robert Redfield ?
1. Tepoztlan |
2. Maya
3. Trobriand
4. Yucatan
(A) 1,2and 3
(C) 1,2,3and 4

(B) 2,3 and 4
(D) 1,2and 4

From the following Sociologists who is
known as Marxist Sociologist in Gujarat ?

(B) N. R. Sheth

(C) A.R.Desai (D) A. M. Shah

Match the Column-I with Column-Ii in
view of books written by the author.

Column-i Column-ii
a. M. K. Gandhi 1. Buddha and
Karl Marx
b. Dr. B. R. Ambedkar 2. Das Capital
c. Karl Marx 3. Hind Swaraj
d. M. N. Srinivas 4. Untouchability
in Rural
Gujarat
5. India’s
Villages
Codes :
a b ¢ d
A) 4 3 1 5
B 3 1 2 5
€ 2 4 1 5
1 3 2 5§

50.

51.

52.

A 3sesatt st W A Astimiall
56 ollold S SIAA B ?

1. 2U clet
2.

3. Aee

4. used

(A) 1,2 ua 3
(C) 1,2,3ua 4

(B) 2,3 uq 4
(D) 1,2 A 4

ofl Aot Mo auElAAMI dforrtctn

Histladl drterausll d3 A Wavesi
A B ?

(A) w2y
(C) Awmrtud

(B) RAet2u12.96
(D) AAHwe

Yetsoll Auisal tatiotil Avl tél-| wa
AEL- 1 Wl A4

aél-l alél-Nl
a. A3l 1. ofg v sl sl
b. stollaumidssr 2. en 3N
c. st sl 3. Rot iy
d. AxAAMMAaun 4. qlla opesRietn
VRY Al
5. g8l QAvu

YAl (8ls) :

a b ¢ d
(A) 4 3 1 5
B 3 1 2 5
€ 2 4 1 5

1 3 2 5




53. What refers to the ability to understand a
culture on its own terms and not to make

judgements using the standards of one’s
own culture ?

(A) Cultural relativism
(B) Acculturation
(C) Cuitural absolutism
(D) Isolationism

54. Which Sociologist describes Sociology
as “The Science of the forms of Human
interrelations” ?

(A) Ginsberg
(C) Weber

(B) Parsons
(D) George Simmel

55. In which book did Sir Herbert Risley
discuss the community, tribe and caste
of India ?

(A) Caste and Race in India
(B) The People of India

(C) Caste and Politics in India
(D) Social Tension in India

56. In his evolutionary frame Marx arranged
societies in the order of

i. Socialism
ii. Capitalism
iii. Feudalism
iv. Primitive communism

Codes :

Ay v i i
®) v i il
©) i v i i
() @i i v i

53. @A Aol Rewoll a2 A wnetell «dl

3, Wil 2izgRet GNA GuL 53 @Rl
Rl srauell sl =2 A Aouuidl 58
Qelcotl auRjnA B

(A) s RAARH
(B) AsmycuRet

(C) sewd EnfAENTo EIT
(D) wusAAUABH

54. o{Qetniel s wrweuslloll de AUgUR
et 8 Hetcllollolt AidusE ot
w3Wej Qeuat B 7

(A) Blotiod
(C) aur

(B) wlst
(D) *A¥ BAct

55, u? edle RoA A Welet sl Yelsul
elicloll SR, et el wyeldell
Ul 53 B 7

(A) stz oS Y Bl goslal

(B) Hl Uluct 28 Beglaul

(C) sl Ves WARSYU Bet goflaul
(D) WA otiel Bol goflal

56. sl GeslAaél vaueMl WLyelt o
gl §3MI o6 B ?

|, UMFUE
il. Yweale
ii. wdeue
iv. wu@d WAUE

vt (8\s) -

(A) v i i
@® v @i i
(©) iiv i i
(Oy i i v



B

57.

58.

59.

60.

(D) Rules

The most frequent item in a series is
known as

(A) Arithmetic mean
(B) Geometric mean
(C) Median

(D) Mode

The word “Sociology” is developed from
two languages

(A) Latin and Greek
(B) French and Greek
(C) Latin and French
(D) Latin and English

According to Manuel Castells, which of
the following is not mentioned as feature
of network society ?

(A) Sociability
(B) Flexibility
(C) Scalability
(D) Survivability

According to Foucault, the genealogy
of power is concerned with how people
govern themselves and others through
the production of

(A) Economic Institutions
(B) Political Institutions

(C) Knowledge

57. WA wlell QoA R 5334 Rt uR
(A) Aundls 2l
(B) v a5 ot
(C) Mflaa
(D) as

58. ‘WA soe 56 QA curell wedlell
ool 8 ?

(A) ARet wuA ofls
(B) ¥oxu wa ofls
(C) ARet A }ou
(D) ARet ua ¥ijy

59. Hoyue BRBAU Ut yool Wa-uHA
Wyell Qe ddly oAeuniel 59
gallcyf otefl 7

(A) Al
(B) s@sflllclA)
(C) B[euolclA
(D) wRaudaefleld

60. §8lell 1A, Wellacly 25 wazell
(ot AN Mettell ot A wUR olloaed
aglaz 52 3, Q W2 Aol s Rsey
WAGLER D ?

- (A) wles dezd
' (B) Ruwdla dreuxd
(C) suat

(D) Ra




63.

. According to dramaturgical model of

Erving Goffman, which are the three
concepts to explain the presentation of
self, uses three concepts ?

61. V(oL NsRetall sRfoflect N3t - -
worod teliatell W@eufRiseRl 2 AR

Qeitetett B.RRMQﬂcﬁw 37 :

a. Front stage 8. ot

b. Back stage b. s R

¢. Theatre c. @aee

d. Outside d. wzues T
(A) a,b,d (B) b, ¢ (A) a,b, d ®) bc
(C) b, ¢, d (D) ¢, d () b, ¢, d (D) ¢ d

A social movement that seeks limited
changes in certain aspects of the soclety
is known as

(A) Resistance movements
(B) Reactionary movements
(C) Reformative movements
(D) Revolutionary movements

‘Reflexive role taking' was discussed by

e b2cis ool cieciie (UReadet)
clacel yBal Waw .

(A) yRsR unaa

(B) wABuais unan
(C) YRN8 UNAR

(D) si@sidl unan

63.

whom ? sl d? .

(A) G.H.Mead  (B) E. Gofiman (A) PAUHs (B) ©. 33 Ret

(C) R. Linton (D) K. Davis (C) u. cllo2et (D) ¥.3d
84. Rewards and punishments assoclated | 64. oReL wulal Al Asidat qéuie wil

with role expectations are called @at sl s Qi B 7 :

(A) Norms (B) Values (A) Qed - (B) a-getn o

(C) Sanctions (D) Mores C) WRdlw () Qs

Robert Merton's functional paradigm is a
(A) Critique of Parsons’ theory

(B) Support to Radcliffe Brown's views
(C) Framework for functional analysis

Qo ubete] ysilcns _Q}Gam B, |
(A) wilewtel Relcel ucuel (@lag)

(B) ¥sclly aiGeiett QuAR undet
(C) wselas Rt udell gudut .

A * Redodla At 24l * A @ea “‘ft» o B l

(D) Critique of Malinowski's theory | (D) ARDcehirl Meleiel WU Golal) -




66. Match the following :

a. Jain 1. OBC
b. Prajapati 2. Tribal
c. Chamar 3. Religious minority
d. Kathodi 4. Scheduled caste
Codes :
a b ¢ d
A) 3 1 4 2
B 3 4 1 2
€ 3 2 1 4
d) 3 1 2 4

67. Social distance is associated with the
scaling technique developed by

(A) Likert (B) Thurstone
(C) Moreno (D) Bogardus

68. Who is the author of the book, “The
Harijan Elite” ?
(A) L. P. Vidyarthi
(B) Y. Singh
(C) Sachchidananda
(D) S.C. Dube

69. Which of the following terms is used
by ethnomethodologists to describe
the ways in which social actors explain
specific situations ?

(A) Accounts

(B) Emotions

(C) Hermeneutics

(D) Rituals

66. %sst A3\
a. %ol 1. Aol
b. yasul 2. adud

(AUGYRA welm@)

wlhls ayu@
YR WA

C. YHR 3.
d. siadl 4,

Yl (8ls) @

a b ¢ d
A 3 1 4 2
B 3 4 1 2
C 3 2 1 4
d 3 1 2 4

67. AR5 vl WMo AQ Wuet ugl
WA ASIAAl D AR A Qs ?

(A) Asé
(C) Ara

(B) yzeet
(D) oRously

68. * tl sRet A@2 Yacisou Auis Moy D 2

(A) Aa . Qe
(B) cua.lat
(C) ullewdle
(D) Axgd

69. oAl A 88 UReUwN Guol 58
AARUNAYRE UHRS 5cilad a2t Assa
, URRAQ] RMANY scliell 2ct2 <ol B,

(A) 2l (Buw)
(B) coglzQ

(C) i

(D) sMsis




70. The price paid to Muslim bride is called

(A) Talak
(C) Dowry

(B) Meher
(D) Bride Price

71. When Habermas talks of three spheres
of “Life World”, which of the following is
he referring to ?

1. Culture

2. Economy

3. Society

4. Polity

5. Personality
(A) 1,2and 3
(C) 2,3and 4

(B) 1,2and 4
(D) 1,3and 5

72. What is the meaning of displacement ?

(A) Migration due to social reasons

(B) Migration due to economical
reasons

(C) Migration to other place by personal
choice

(D) Migration from the own village due
to forceful reasons

73. Choose the correct answer based on the
statements | and Il given below :
I. According to Durkheim, too much

integration in the society influences
the rate of suicide.

Il. An example of this is the rate of
suicides among the divorced men.
(A) Both statements | and Il are correct
(B) Both statements | and |l are
incorrect
(C) Statement | is correct, but statement
I is incorrect
(D) Statementlisincorrect, but statement
Il is correct

70. el slaayd ysacuslt HA

sdca 8 ?
(A) dcus (B) ez
(C) e&¥ (D) souges
71. 26 et (el AR dotsstell uul
52D QA s B ?
1. gl
2. udeuaul
3. WX
4. ArUcAdRAU
5. calfet
(A) 1,2 ua 3 (B) 1,2 ua 4
(C) 2,3ud 4 (D) 1,3ua 5

72. Qeuiuciod wd 9§ wwR?
(A) a@s 5:2Q0l 53¢ AR
(B) 2uldls si2elell 53¢ wAidR
(C) RwIR viodd R 5AAG WALAR
(D) wasudlyds cadeuiell wesl yseuell
sAAg WUAUAR

73. <12 et Quiet-iua @Qutet -1l ol
e A Grix wie sA.

|, guleoll 1A, dY US HHY W] Yorust
BLHERUAL ERA BUR 53 B,

II. Ryz yaa sllagcsll dud €2 g
Gelzl B,

(A) «d Quuet | u I Wy 9.
(B) Ruist|ua Il Vg

(C) Ruet | Wy d ud Quist 11 Yy a2l
(D) Quiet 1 WG B URd Qeust-luy B.



74, Pollution is viewed as “The release
of substance and energy as waste
products of harmful activities which result
in harmful change within the natural
environment” who gave this definition of
Pollution ?

(A) National Environment Research
Council

(B) Indian Council for Social Science
Research

(C) N. Shoshagiri

(D) Southwick

75. Name the author of the book “Social
Background of Indian Nationalism”.

(A) I. P. Desai
(B) D. L. Sheth
(C) N. R. Sheth
(D) A.R. Desal

76. Who has worked on “Structural
transformation of public sphere” ?

(A) Foucault
(B) Habermas
(C) Glddings
(D) Bourdieu

77. C.P. Bhattwho advocated an ecologically
sound development based on integration
into the market economy was associated
with '

(A) Save Narmada Movement
(B) Save Western Ghat Movement

(C) Chipko Movement

T4, Wl vy BQ wdl B, « ofsaucisies
YR ai2l acll UR G ot Geuresdl
aAdfld Foal ¥ geacll il sielladl
WRelelet ctecunl wReA B,

(A) duddt Aeciudenee Rudd siGalle
(B) vefludt si8aallct fl2 Meut WM Byl
(C) Ret. Mawalldl

(D) wGuclls

75, “alluct Asoules W sERust

AUARNAN” Yictsell Auise] sin aldd,
(A) weltuy

(B) dlAa.s
(C) Retuur.s
(D) Aurtue

76, AQ sUA 2N Vuet W UCAS
Mlur " ue sin 8y D 7
(A) &8

(B) duimuin
C) AR
(D) By

77. L. llag b PR oimciall wdeua
A Yortiet GuR Wt da walleeely
@stue] uMdet 8¢ A Ao AR Aell Wil
Wsidet D 7

(A) edel dwd unan
(B) Awel w2 wwQ yaqn
(C) Ylul yaRee

(D) 8e03RANUt yeRe2

(D) Conservation Movement



78. The trilogy, ‘The Information Age :

Economy, Society and Culture’ was
authored by

(A) Manuel Castells
(B) Jurgen Hebermas
(C) Edward Said

(D) Pierre Bourdieu

79. Deconstructing society, according
to Derrida has the following
characteristics :

1. Recognises diversity
2. Rejects grammar in writings
3. Recognises history
4. Disapproves history
5. Recognises context
(A) 1,2,3and 4
(B) 2,3,4and5
(C) 1,2and 3
(D) 1,3and 5

80. The Hindu Adoption and Maintenance
Act, 1956 is also applicable to

(A) Muslims, Christians, Jains
(B) Buddhists, Jain, Sikhs

(C) Buddhists, Sikhs, Christians
(D) Buddhists, Jains, Muslims

81. E. H. Sutherland has propounded the
theory of

(A) Dissociation

(B) Comparative analysis

(C) Differential association
(D) Sum dissociation

78.

79.

80.

81.

ARudl * R aa : vdcaera,
WLy AR WgR Aot AR B v B?

(A) Royuict Juead
(B) ¥R3\et duiHIU
(C) Asal s
(D) a2 QAR

34lel ol Het Yl wuwell Bsougsdlal
(wRniRls2g ) ol cla@scurl o0 yyuel .

1. QRuAR Hetcl ( elstrell )

2. cviel causQel ez 524
3. gRa AR vudl

4. SRBA WHIeARIA

5. deecla sl

(A) 1,2, 3 ua 4

(B) 2,3,4ua 5

(C) 1,2 ua 3

(D) 1,3u4 5

Rog Evis uA Reuagll stefot, 1€us
lAetl A gt AYELRDA URL ctdy U3 B ?

(A) el ulzcdl Bt
(B) orellze, e, ellw
(C) gedllee, 2utuflzell
(D) oudee, Fat, yeelln

g, AU, YA sl At wU02R ?
(A) Queet/ Reuyet

(B) dcteilais [AsANgL
(C) QAdlgd Msiat
(D) ¥2¢is Rouwet / Queet




82.

83.

84.

85.

Who opined that, history is the graveyard
of aristocracies ?

(A) V. Pareto
(C) A. Toynbee

(B) G. Mosca
(D) A. Gouldner

Match the Column-I, “Law” with Column-I|
“Year”.

- Column-|
Law

a. Hindu Marriage Act

Column-li
Year

1. 1948
b. Special Marriage Act 2. 1961
c. Dowry Prohibition Act 3. 1954

d. Factory Act 4. 1955
Codes :
a b ¢ d
A 4 3 2 1
B 3 1 4 2
C 2 4 1 3
@ 1 2 3 4
The two main school of law in the matter

of inheritance were, Dayabhaga and
(A) Mayabhaga (B) Pitakshara
(C) Satyabhaga (D) Mitakshara

The concept of “Feminist
Environmentalism” that takes a material
aspect of women'’s work into consideration
is put forward by

(A) Vandana Shiva
(B) Bina Agarwal
(C) Medha Patkar
(D) Sunita Narain

82.

83.

84.

85.

olAett ASL AQ A w@yrat w0l ¥
gAst N EHAAAE] carcrey2efl 5002 D,

(A) d.d (B) . 2l
(C) A Aol (D) A, yeset?

SleAM- | 'SAEL WA Bleu-N ‘@’ ol
%55 RS\,

Sl -| Slen-|
SIAEL o
a. Bog N Ase 1. e¥e
b. WRaa N Ase 2. 1es
C. Slafl ( edv )MBR Ase 3. seuy
d. ¥sedl Ase 4. euy
YUl (8ls) :
a b ¢ d
A 4 3 2 1
B 3 1 4 2
C 2 4 1 3
) 1 2 3 4

GriARS(2 it YEIRA @A QA v
SAELoll quviy (RECL ), EALCUDL AR

(A) naueudy (B) Retaut
(C) dcucuat (D) Meusaut

8Q sgf 3 YRR ActeugsRe2cllnn * uj
URcuo slen DS WA UEL taltetn
Adl ABA,

(A) deett 2ley

" (B) ollett A1

(C) A wese
(D) YRt att1eSet




86. Who studied Technology, Credit and
Culture in Nilgiri village ?

(A) David G. Mandelbaum
(B) Erick J. Miller
(C) W. H. Newell

(D) Sir James Frazer

87. Foucault thought that archaeology was
a necessary first step towards

(A)v Genealogy of power
(B) Discourse analysis
(C) Clinics and medicine

(D) Deconstruction

88. Match the following :

a. Max Muller 1. Animism
b. E. B. Taylor 2. Totemism
c. E. Durkheim 3. Fetishism

d. Auguste Comte 4. Naturism

Codes :

a b ¢ d
A 3 1 2 4
B 4 1 2 3
Cc 4 2 1 3

® 2 4 1 3

86.

87.

88.

el suaati 250, ¥Sle vlaldgldsll

ey & sAl ?
(A) 3Qs Y. HBAAH

(B) ARs 8. AR
(C) suicay, AU «YAC
(D) AR B IR

sy A YAH wi@e B, §8R AL
@3,

(A) Yol g W
(B) Rudd A-u@ln
(C) GRls Ros ABYet

(D) B5gseet

(lAell M55 NS\,

a. Asd Yok 1. Aell{lon
(vueLete)

b. 6. oll. 2acdr 2. a_Hlan
(oR&EUE)

c. ¢. gulen 3. ¥llon

( WSy UMGLALE)

d. Wowe d 4. auncdlsn
(ygleue)
vicudl (81s) .

(A)
(B)
(©)
(D)

N A WD
AN = =T
- = N N O
W ww o

T R S S



89. Which is the correct sequence in

conducting Social Research ?
1. Review of literature
Formulation of the problem
Data collection
Coding
Analysis of data
6. Formulation of hypothesis
(A) 1,2,8,6,4and 5
(B) 2,3,1,6,4and 5
(C) 1,2,3,4,5and 6
(D) 2,1,6,3,4and5

O >N

90. Which of the following methods are
suitable for collecting data from non-

literate communities ?
1. Questionnaire

2. Observation

3. Interview

4. Case study

89. UMRs AN Ut sla bcy o{lA gl WA
$H &l ?

- B wllan

. Y8l uScR

- HIBA Aslls2gL

s18lat

. HRdlej adlls2eL
5. GUsCUslle] USAR
(A) 1,2,3,5,%, A U
(B) ?,3,4,5,%, v 4

(C) 1,3,3, 5,4 ua s

(D) 2,4,5,3,%, st u

£ X w A L

90. wR@A wyeui URA AsAseL 12
(lAuiell 56 ugld o 28 2

9. ysitacll

. RAawy
3. Yelsid

¥. 3y sl

(A) 1,2and 3
(C) 1,2,3and 4

(B) 2,3and 4
(D) 1,2and 4

91. Choose the traditional values from the
list given below :

6.
(A)

(C) 2,3and 6 (D) 2,3,5and 6

. Ascription

Achievement
Universalism
Collectivism

Particularism
Individualism

1,4and 5 (B) 1,3,4and5

(A) 1,2 ua 3
(C) ,2,3ua ¥y

(B) 2,3 ud ¥
(D) 9,2 ua ¥

91. oAl il uduroLA yED udie
53 agud,

1
R
3
¥.
Y
5.
(A)
(©)

MO
. Ulldddl
. deldad

ABseliaue

- yasdlate (gAflee)

cFacue
9, ¥ ua Y
2,3uUA g

(B) 1, 3, ¥ ua y
(D) 2,3, yudg




92, Match the following Column-I with the | 82. wxiwausul Aulleil AWLEIAR talaul
Column-Il in view of their contribution to alull Ares-1 A Ales-1l Wl w8l
the sociology discipline. fres. sres.ll
Column-i Column-li a. A A 1. ek K@
a. S.C.Dube 1. Power Elite b. it Ret, lPety 2. Tedlaun Aeoflol
b. M. N. Srinivas 2. Indias Changing QAP
Villages C. W AN, We 3. ghlan QAYU
c. A.M.Shah 3. India's Villages 4 Wl use Rew 4, Hl wgsur Ay
d. C. Wright Mills 4. The' Structtfre of Seflaet Ruiadl :
Indian Society : et L
Then and Now o 2ot Al
Codes : yeldll (818) :
a b ¢ d a b ¢ d
A 2 3 4 1 A) 2 3 4 1
B 3 2 1 4 B 3 2 1 4
) 4 3 2 1 c 4 3 2 1
o 1 3 2 4 ) 1 3 2 4
93. Match the following List-| with List-il and | 93. awél -1 «ud wdl- Il Hiell Al
give correct answer from the given code. woiod Racll ML AL
List-I List-Il adll -l
a. Cultural lag 1. Auguste Comte a. diwglds edt 1. wlore s
b. Anomie 2. W. F. Ogburn b. Rl 2. sucy. A, oloisl
c. False 3. Karl Marx c. Reat Aot 3. stcl sl
Consciousness
I d. yeaacle 4. Aod uéa
d. Positivism 4. Robert Merton
Codes : YAl (sls) ¢
a b ¢ d a b ¢ d
A 2 4 3 1 A 2 4 3 1
® 3 1 4 2 B 3 1 4 2
Cc 4 3 1 2 € 4 3 1 2
® 1 4 2 3 ® 1 4 2 3




94. Which of the following concepts are used
by Edward Said ?

1. Other
2. Deconstruction
3. Orientalism
4. Biopower
5. Alter Ego
(A) 1,3and 5
(B) 3,4and 5
(C) 1,3and 4

(D) 1,2,3and 4

95. Which of the following are elements of
rural community ?

b

. We feeling

N

. Specific relations

w

. Cultural diversity
4. Self sufficiency
5. Homogeneity
(A) 1,2,3and 5

(B) 1,4and 5

(C) 1,3and 4

(D) 1,2 and 4

94. o{lA wcuHidll Ssad As sl 5¢
vauel (vale)sll Gullat sAA0 D ?

q. e
2. Bsogsitet

3. ARAIARSH
¥. ollWdR
y. AR gl
(A) 9,334 y
(B) 3, ¥ ua y
(C) 1,3 ua ¢

(D) 4,2, 3 uqd ¥

95. o{lAuiall sui llgL WyELA el D 7
1. uH ueuell elcott
2. AlssyU uoi
3. uixglds QAU

4. vwed Rolell

5. &la ge /
(A) 1,2,3ua 5
(B) 1,4ua 5

(C) 1,3 u 4

(D) 1,2u4 4




96. Match the following :

97.

a. Alfred Schutz i. The Presentation

of Self in Everyday

Life

b. Erving Goffman ii. On
Phenomenology
and Social
Relations

¢. H. Garfinkel iii. Mind, Self and
Society

d. G.H. Mead iv. Studies in
Ethnomethodology

v. Ideology and

Utopia

Codes :

a b ¢ d

(A) i iioiv il

B) v i i v

() i v i i

(D) i i v il

Match the following :

a. Comparative i. F. Bacon

Method
b. Verstehen i. J. S. Mill

c. Inductive Method iii. E. Durkheim

d. Inverse Deductive iv. M. Weber

Method
Codes :

a b ¢ d
(A) i v i i
B @i v i i
€ i i i v

(D) v i i

96. °sisst %S\

97.

(D) v

tll Yosoelot 2y Aes
ot N3 Ay
ot flALAAY oS
Wellac RAet

a. vckSs Y3» i.

b. g2t sUsRat .

c. A ouFset  iii. MEos, Acs Wb
Aaadd
d. ».Au s iv. @Sl et
ALANASNAY
V. syl Ao
gl
yeudl (81s) :
a b ¢ d
(A i i v i
B) v i i v
©) i v i i
@) i i v i
o(lAoll A5t A8\
a. s1dld Aus i. As Asel
(detstterts uald)
b. axéelSat i. @ A dad
C. Bo55dlal NUS iii. . gulen

(AWLHALHS)

d. Soladl lssdla Aas  iv. AsA AR
(RoBettems)

yeul (s18) :

a b ¢ d

(A i v i i
B ) i ivo0 i

(C) i i i v
o0 i




g8,

Whlch of the following are measures of

variability ?

1. Mean
2. Range

3. Median

4. S_tandard deviation

5. Mode

" (A) 1,2, 4and5
(B) 2,3,4and 5

- (C)1,2,3and 4
(D) 2,4and5

Who established “Satya Sodhak
Samaj" ?

(A) Mahatma Jyoti Rao Phule
(B) Vivekanand
(C) Mahatma Gandhi

- (D) Achhutanand

©100.

In whose study it is found that Bhills
are organised in exogamous patrilineal

lineages in Rajasthan ?

o (A) G. Mékrc)s Carstairs

B (B) ‘Mckim Marriott

(C). Cd»l'_i._r) Rosser

(D) S.C.Dube

98. el QuCctotoll YHIUA 2l B 7
T lel (M)

. Yo (URW)

. MlSlatet (Hrauls)

. Rles§ [Quctat

£ X w ®»

. Hs

(A) 1,2, ¥ ud y
(B) 2,3, ¥ ua y
(C) 1, ?,3ua ¥
(D) 2, ¥ ud y

99. ‘Ucttlus UMY ol vl B 541 7
(A) Halad wlld A 5@
(B) @Qaside
- {C) natau aitll

(D) uyelsie

100. 5ol BeAHHL A Anglal Huy ¥
Awenl ol sflesella Qs
duwyi qobld udcl B2

(A) . A s

(B) sy AR

(C) Acllet AR
(D) Aw. . gQ
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